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Today:

* More on RC circuits
* Magnets and magnetic field
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RC circuit: Charging

a )év S -
- R Q- R i
i \'—/\N\/\/— At time t =0
ng £ —>i + the switch is
T i — CI moved to
L -~ oV, position a.
==-%/
Uot loor: rule: gi—ol/,f'l-bl/c:a ‘
=) E-Rc- %4 =0 e : ¢ = 4t
7 E-R4t ¢ _, }M Hestinl eguabion ©
{ df ‘Z’ »Fov Ct’a-r(j‘l"hé
a g(f = } " Cnrtal cor- oy, *

=/ Solutron: g(f) sC&[I1-¢ 76/‘?':7 Clmzﬁ‘.l

O
chech: 1,(6 o)- O dq. E o _t/RC g2 s,
dt R




Charging °f = “*7”;’("‘(‘"
che gt ’?cff) CE[I-e J) [omersce

as;,{':‘

o{' erp on s bal chovginag
weall: e 'z

v

TO =% R ’. -
=) (l-€")=0632= 2% > T ©
‘{’/ i I, sk T Cemen
cwm..t~ dy g _trr| ‘p A
My i€l —E.E 4 (tz0= E/R
CLla-véo”S dt' R —-— ‘ ) -
at {:o: ¢ (0) = 8/1? B ~ Crentt Loca -
o fen bral -Cr Eonately
chomge [sV,= % g [1-e j/
A v C

Caraa"FH a‘ €zo 0\/4 (o) = é



RC circuit: Discharging
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The switch has been at position a for a very long
time.

At time t = 0 move the switch to position b.

Current j begins to flow to discharge the
capacitor.
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The graph shows the /

electric charge on a
charging capacitorin a
simple RC circuit.
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Magnetic Fields and Forces

The Earth’s magnetic
field near the surface
can be approximated
by the field of a bar
magnet. In which
direction would the
magnetic north pole
of Earth’s magnet
point?

The gecgraphic North Pole is a
magnetic south pole,

Magnetic
field lines
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X To the geographic north pole
B. To a point near the geographic north pole
% To the geographic south pole
@"o a point near the geographic south pole




Magnetic Fields and Forces
~ What Produces %a?mzﬁ‘c DCL:/&L) E-) 4

Caj ’*nogmlé"( Cfnan/ghz (Magmn"‘c f»;ono/oolc.)
/!2? Aeve, bave bee, Jocmd ( mobod, knsts
- bv/.; 6&/ do mot e’ (-)
=) 20 Indevicbieal 7 movtd " & “0atd” Poll-;
alwoyo COnt i PMnfl- Jout PaIT> ??

(b) Ele( ‘6}0 %am:

D Clectric open b (moving clargs,) prodace
Q ‘*naarmc(x'c F;'((d Aytes, 6‘(‘»-,
(<) Peromane,t mogrel '
=D e/e%éa'; Pa.«ﬁ?('a have ow it st
4"’”{""7'{ Lreld aroend Che,., => agm ebr
.g'cf of ,aavﬁ‘cfn, add Y 19 e lan matteal
=/ net Ma?”’eh( F"[‘{ Xrpen, o CAe ’*na’/lna/




How can we detect a magnetic field B?
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